SHTEE AT ERETREEFKE N\ Ry R—ILE
B . $fMxxE6A8H(L)-9H(R)

RGOSR ERT LS —

(BF) I B — rhagkk
57 | 44
9H M4
8H 15 =717
125 19 11 — 4 45 71
A2 15 — 10 A3
36 — 2 16 — 16 18 — 20
37 — 0 7 — 15
16 — 11 10 — 16
36 — 6 10 — 20
1 2 3 4
k) £ R s
— = i M
h h ch h
(%¥) I B — rhikk
63 | 60
9H M2
8H 20 — 16
68 20 13 — 12 26 94
AS 17 — 12 Al
32 — 1 13 — 20 2 — 29
19 — 9 6 — 20
9 — 5 12 — 19
8 — 5)15] o1 6 — 26
AT
2 — 20
4 — 22
4 — 29
5 — 20
1 2 3 4 5
£ R £ £ £
— il = M
h rh h h h
@& sH(E) 1 9:00 9H(R) 1 9:30
2 10:20 2 10:50
3 11:40 3 12:10
4 13:00 4 13:30
5 14:20

@TO(ZDL\T 1BEA1XE—dLF, FORITETF—LATOLLES,
2BEM1IE. 1BEA2DBEF—LHATOLES, FDRIFAITF—LELS,



SHTEE BONI2TEREFBTREEFARE N\RYyybR—ILEE
A - $fMxxE6A8H(L)-9H(H)
S5 DAL HHEEBRERE L 2—

(5F) Hap
71 | 40
9H M3
8H 26 — 4
162 10 23 — 13 57 73
B5 11 — 8 B4
54 — 2 11 — 15 13 — 12
28 — 2 13 — 23
35 — 4 7 — 18
45 — 2) 45 | 69 24 — 20
4 — 27
23 — 10
7 — 18
11 — 20
1 2 3 4 5
A =) & i /N
yJ| H 4 =
h th h R &
th
(z=x) Harh SR
64 | 39
9H M1
8H 16 =10
101 47 14 — 10 32 55
B2 20 — 6 B3
21 — 8 14 — 13 10 — 14
22 — 11 7 — 10
25 — 10 3 — 10
33 — 18 12 — 21
1 2 3 4
# 7 K 8
] = T
H th 0 iR
rh
O:i4amR sH(L) 1 9:00 9H(A) 1 9:30
2 10:20 2 10:50
3 11:40 3 12:10
4  13.00 4 13:30
5 14:20

@TOIZDIL\T 1HEB1IIHGEEF, ZORIFAITF—LMNTOLE S,
2HEM1IZ. 1THBA2DBLF—LHATOLLES, FDERIFEFF—LELS,



